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QUESTION 1

You are onsite with a client to perform a post-deployment site survey. When verifying a multiple channel VoWiFi
deployment using a VoWiFi handset, which aspect is most important?

A. Performingprotocol analysis with a single wireless adapter that is scanning all channels in use

B. Testing a constant conversation orhandset tone while roaming from area to area, or performing an active survey
C. Configuring DSCP-t0-802.11e QoS maps on the handset for each access category.

D. Verifying the VHT functionality to handle the call volume incurred by a single VolP phone call.

Correct Answer: B

QUESTION 2

ABC Hospital is planning a Wi-Fi infrastructure upgrade wherethe 802.11b/g APs (HR/DSSS and ERP)
would be replaced with new dual-radio 802.11n/802.11ac (HT and VHT) APs. ABC wants to minimize the
time and cost associated with performing a new site survey, so they will be mounting all of the new APs in
the same locations and with the same cable drops as the existing APs.

What is one performance drawback with this deployment method?

A. Multipath will increase, causing excessive layer-2 retransmissions. The retransmissions will cause latency for VoWiFi
handsets.

B. Increased receiver sensitivity on theVHT APs will cause them to continually change channels to avoid co-channel
interference.

C. If the existing UTP cabling is not Category 3 or better, the total Ethernet backhaul for each AP will be limited to 100
Mbps.

D. The existing WLAN plan, including the AP locations, may not provide the benefits seen in HT and VHT
802.11 PHY capabilities.

Correct Answer: D

QUESTION 3

What features were introduced in the IEEE 802.11h amendment in order to uphold regulatory requirements for 5 GHz
operation? (Choose 2)

A. 256-QAM

B. DistributedCoordination Function (DCF)
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C. Phase Shift Keying (PSK)

D. Transmit Power Control (TPC)

E. Radio Resource Management (RRM)
F. Dynamic Frequency Selection (DFS)

Correct Answer: DF

QUESTION 4

You are selecting antennas for a WLAN operating in the 5 GHz frequency band. What specifications should be
evaluated for an antenna before it is implemented in this WLAN system?

A. 802.11ad compatibility
B. TPC support

C. Impedance in Ohms
D. Return Loss Rating

Correct Answer: C

QUESTION 5

In WLAN security, which authentication method always create Layer 2 dynamic encryption keys?
A. HTTPS Captive Portal

B. WEP

C. EAP-TLS

D. Shared Key

Correct Answer: C
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